
 

 

 

Threat responses - activity 2 answer 

 Impact Probability 

Avoid   

If we try to avoid a threat this will change the probability of it occurring 
but will not affect its impact should it still occur. 

Transfer   

Transferring the threat has no effect on the probability of it occurring but 
protects us from the impact to some degree. 

Reduce   

Our reduction response could be aimed at reducing the impact, the 
probability or both. 

Accept   

Clearly, acceptance has no effect on either of the components of a 
threat. We are simply choosing to ignore it. 

 

 


